
 

 

Stand  Components 
Picture Description QTY 

 Conveyor Extrusion 2 (745mm) 

 
End Caps 2 

 
M10 x 20mm Bolt 8 

 
M10 x Nut 8 

 M10 Spring Washer 8 

 
M20x190mm Threaded Rod 2 

 
M20 Nut 6 

 
M20 Dome Nut 2 

 
Angle Feet 4 

 
Stand Bracket 2 

Stand Installation Instructions 

Thank you for purchasing an Australian made Luna Roller Conveyor Stand.  
For customer service or spare parts contact your nearest Luna Machinery representative.  
There is a Luna representative in every capital city of Australia and New Zealand. 

Unit 6 / 24 Garling Rd, Kings Park, NSW, 2164 
Phone : 02 9676 5114 - Fax : 02 9622 7547 email : sales@lunamac.com.au 

www.lunamac.com.au 

1) Attach the 4 angle brackets to the bottom of the stand legs. 

 
2) Insert the threaded rod and attach the M20 nuts. Leave the dome nuts for after attaching to 

the conveyor. 

 


